0 LN
0 H |
o | i
O | i
kel |
. |
N
°
N\ OO 5]
NI E °
N s g
N 2 8 %
N =H | - £ =
N\ ) F= @ £
N (N n.,c > 7]
./1 @ - o
—_ o
N z 5 g
01 o o ©
= o)
N .m 5 c
f (] ©° k=]
- Qo =
© = o
4] ™ < © =
i 5 = =
: R A S8 -
P
2 ) =
= et
o = m —
5 o
a1 = g < o -8 S : 2=z
E-BQ 9 5] n a 1) & = N
LA N\ = = © . & = o 5
LN =} = IS o % o =]
= Z = = = « = =
L =4 Q N o (o) =
E-H—..mw = mw o =G c S L
= = [$¢] > c [=] — o =
N E 4 3 — D > 18 ° 2 5
NN § = P R = € = S || @ 3 - g : : = X
N re. = = g S
g = g B A Els S s o E
LM a s e g 9 a £ o =2 c |- oo N : o
= = O < © - %) =1 ~ © [ o o @ (@) Ny v g
= i a = c B3 = = . (0] . o N~ oy c = uﬂLm
+ i N — 5 G 4 s m . O c .mn B — ..n_l.v = [<3Ee)
HN | 0 pu = = o= [T ¢ o - =) - 2] s18
E gt ¢ BT g 12 = 8 . S o IglE
= [ g > . c S =
T | 3 = @ £—+= g5 Tg s 7 85 2 S ta £3
— -
= = 9 z - =0 O ... = [ O ! 1) =)
= i i = Q — = ¢ a o) P YTy U
— (%) [ = o (5] A2 L= [ == e L@ s =
HOY | c Q@ . Sl
= = : = 3 S5~ 2288 = s nis =N 9 =
= N [ Q ) 5 = — £ £ Z o) o = =
H e | v 9] = 2 s 5 04 . 5 o=l X = Lox 2% g S
= = o @ 14 P o 0= 52
f S Z 0 © =2 S o c g e e = —
=t i e =] ¢ mm o o © N .anu. cC|lo|S oS — S
M| 1._m, w 2 o[ Cc o N = € — = nnw o mmha [ ©
Pt = — o . — .
M) ; = = . co 2 3 < o ® 5 = olglw ol 3 1%
N\ | T o N =} (o) 1T = £ o W o a ke O c = o~
w [ d S s 2 = ™ : T [T 2Fd d > o TEUE S S =ol8 512 s
J.Hmma i S 5 o 4 - < = S £ 0 = 2 < B Bt o = 28| 2® ©
M o S 28103 5 o 82258 @ b i AT R v S5 S5
o] — = 0] 4= = T e . £ = c 20 [ =
M 010 @ g ® E = o) e 9lel 3 € S S dE3F = =T 2 s>y ==
M N A..m S o T S = 212 S5 z = g 8lslo 2 =<5 223
q . o Q0 o © CRRZ s —=] ) ? R
M — ¢ W o 5 n}w w— [ e “ O g o [N 8 =2 S
() o = 3 D= Q ° £ o = 5 > ) .M.Keo w £ 3l ]
= i G 3 58 -ES 8 = CE8S & =S8 8¢
O\ o - o o 9 o = o 0 S @ 5 g S el I} oo ol £
N = L g < £ £ < S A 2 3 = &35 2l [=>] 5
[ — o m > c ml:nr S ..N._Uu. o = 1] n..Wlde °
NN g @ 5 § E o= & =5 &8 TR « < & rm ; Sgos ™ ==
N £ g T 58 & 5w = 8t g Y IE 5+ go = 2o g5 g .
O\ 2 > = > o |© | 9S i < = a2 /E& Q o ] : > 8050
N e 828 § 2 22 SE 85 2 |50 Too g g e N <TG = £ Te 25 %
N aess 3852282 g R&e"Y3d 35 SN g E k2 2532
a £ ¢ = = A= N T - [ a9 £ = o
NN R oT R, g = g IS 286 © S lGis 50 EQ 5 > Gme) o 5 S8 nlclE
N~ T m () = 0 ® 5|25 ki © ﬂ@ﬂOcm = [} J|N ~ 8 = = hy ©
g\ vlun_."| K= IS < = £ |© ,cw W( /0\ olElc 2 12 3 — =3 ® 30 o~ W MW,%
— 3= O == s ®& g o-dfseggw e SE[ o= _ = =gl =3
- o al =2 = = |8 = 2§ 3 < e o | NI © o g5 2
83 +— g < O [N [o|= a SOBn>D. — = T S a v Ol I~ %m ma <
- = = = = . - - =
— N2 5 N h S (g S0 | ® o 3 gl2s B L . o |2 R c gl gld ] I @
-~ = N H [ \m ,“_ 2] m m)m € — M))eh.lnm = I~ dmm \Lnyum rs) "B E% m
— m < o gnL.LD- ~ Flalz D = I — c | ® =R o] mm E18 o
g 2 8 — o & 2 c e 5] ol | Fld< = £ SlE S
~— H g . E T 8 5 = o5l o rd o S |o ~5 S TR o212 =
— (M Z o g £ o o® o= = ..m.lwa. 2 5 9 - SMO c 3 d = L= r>=2=E
LAY S > o o -8 £ (£ ¢E > > |5l lpg s @ y= @ g2n o g ’ o= 88
—! < = o 5 S-c o500 o o /8t O03C = clSls | »g9° ! < - =13
£ N (o E o |©° e = < . = == g > =9 0w S
£ 3 =) £ = O S ac @ = o = L2108 o
- s\ z P; E 0 = 2 =S = o g Q @ I 2 o = =
S 23 o 9 3 3 23 2 23S EfeS g g siEe =228 g 5 £ c 8
= =T = " < S] E: . = o D
& s 2 > 7| d L—>—g-a . : w <FB8 | S22 N %WJWN o
N g S & E w 5 g @8 NI . 1 olgl=lgl®
T | S X - o o 5 ™~ © o o 0 . gla 56l 3
S @ = S C £ uswA il Bk 9 Shxlclx [ X
N f [ f I | > g wAhed [enuuy paiinbay - | ed —— 8 »n 8=
- & X n ~N O8N0 i ] poyisiN Hoys - || 1ed P .
(WIS I INENESEN 81111H5m7898123455789f1234 T~ | T
SN A AN NNNNNN & NuNOOS
A —NMALN
= ! f NNNOO a0 3%3 UNOOg NG HLN
f 4444&44444455555%9%% rRREE
f 1 [T T AT AT T




0 LN
00
0 (]
0 N
00 «—{
1o
N
N\ & |
N N @ o
N\ > o
N - al
<
NE=} o) k| 5
”3 %) A —
N = s S kS
N S
Y ° =) o
(0] S
- = W — o
N = - n | )
¢
k= —t HZ .M
5] ITe| q
A.Il‘—-u 5 g b = X%
o £ = © 3
N Ei T o ~ W = &
-—{ |w q U 2 — .._M m D o
3 3= 5 N
i 2 5 S < 5 Lo @ S 3
T = S Q S e o S = e D &
N @ L @ = 5 2 2 g 5 a 2
L N\ =2 o oo 8 © =, [ S - d
E.% 2 N 5 aau.m o © N
0L 3 d = - ) 29
= S
= ] — eI T
e g g S = ” 25 2 ks
<] = < + g
le & 3 nl..v = 8 K _W 1=l = L
| = = - = 0 i
T T = R = = O €
J.% 2 2 5 ° s A £
= = S N < s\.IJIMr jud
= QO P 2 2N o o 2 .lu [
N 5 o & o ﬂ-m g
= Qo - = O
E T I '8’ o £ 5 c o) W
= .mu © W Wub P
E i | o | o N 3 S0 L4
c = = = S .
= & = ) o C ® - [}
=+ (N FS — ron o N~ = pt A o o]
=H g =19 = S = = & S 3z ®
— - = o N 5 S O 9 o >
& @ e S 5 o s 5 = [
= o S = @9 — @ &5
S © re) o} S < @
(") A0 2 =) c ) o~ i 3 2 S o =
) N\ e = N 1N ST o |5
) 3 2 8 S5 2% 59
0B X = S [N < o
= D =) H O - c > g
.1%..” D = 2 =323 =
£~} o ] .
o= - = Q
M N e O = [=)) oo oy . r_ = <=3 S
M) o) =] =4 . - s O < r
— > « =19 o) S8 . ; : = @ € (G
("] 3 = St=s J © S TS &% 15" e < S 9
./%, ® c =1k = ko] T 58 1S .5 ot & L =
i ] S 2 c W = T o 5 > 5 €
N O (0] IS = © — = = = - =3 > Q9
4 D . =R ral (72} = - — 5 I =S \m - == v O
NN S r > - 17) > = =l e © = . Q u= c O
) T © (%) = o =K (20 Eo) c 0 c 9 Q ot
N o <L . w > Q O = 4 —& a =
S = c o = o S c 2 ™ < .,CX j =] N L_:lc.m Neny
O\ S @ () e < OB S = = T oo 3 8 (3% —_ ==
N = & 5 = . £ o | © 17 ] S o 5 e r 0@ p @ S o 8 7
N o L m Z = 1S E e vl e c b S iy .mel ge: E=EaEE = == £ =
M5 o c < = = 2z §(o Qe o ° C T o = .W:d:. 5=
(N (o = (] 7] < B S == 2] DI P = .ﬂtnSnn 0 o > = !
N L = IS c R 14} e B8l5 S 5 | E sl =P 1g© - |98 &~
- 5 .mw (] - c b7 = o= - D [O = Sl S T e — <
N =S z ® < C D o=k (] o = o = = = . S LN 3D
— 3 £ S 5 =) 2] L XMJA . > = | - iq;ﬂCLGWIﬁ a = = =
-~ 5= @ = c | o s D v - s.edl,OtOemu S oo e
= c o o — TS s ® o in S{e.0) =1 c y)aha 2h|c. ~
IBC < ol > = S TE T 2|0 |n 1= = — - denu1 |7, = =5 Q| O
- 2 ] > = (822> < = 5 = oo IR @ =59 4
N © c 3 s Pt - 5 = Y (=] - o0 g - £ 13 = 3 T
- o - 2 =] ¢ v [ = Q = - m.vr.,nlun S = > ) =R Flewnc\v, I_Ou.ﬁd
1%,1 h S |t £ 5| d o5 - & o @ % 5ot < 56 =R 58 ”nmmmmed o e 5825 2
— =2 2 © - = =i c bt 1S c = |Tlx a% - < OO . g 5 S 0SB ED S.e8=
+HI| T - c | < ] o) a t c £ 5 c | =} o = < o—1&= 0 =S L= = S O I LL
= = b4 b > ~ - L | ®© R © S5 Mr - o] =
— 3] =19 [E|E e 5 o AR - T — 3 T, a S =i SEs538 I e N > =
— Hh > | = 3 SEEY OTE 2 @ - 1N : <) 50 E 8 55858 & 5 o > 2
NI © ¢ =] = ) © S| S & p | =2 X = [Se A = So= 2 5 O < EE a N @ £ 2 = o))
— e &t =1 = M o m, o ZF |8 g T o ¢ mmN ” Mmu ; nwS. < = dmﬂiwxmfnﬂmua E em_wwe = N\l
-{ © o ~ d B o a (= o = C g 5 = =] Te] o> > 3¢ c 2 1@ = > T N
E%w },M (14 muc = 9 T 8 & w 5 3 _L_c STES c z |z 2 ~ Wsmﬂm‘mv;m%eu Unha% > =
= — € = O & = = = =
) e n - o H = m QS MIcEp m = & © me fo)) % =T = S = a4um Sl = O 5 &« L= T
O n < - i a B2 > s = SIS @~ o © - 2 pe)elﬁ ol oo b £ >g800° = =)
S N = gld = o —E c 2lgek g o9 o g L 3 ndWaachHJ I s S=gt Q "
™~ — o | o © Elelen | & o= ! = = il SB=tE 5
= 0 o 9 .rw Jd o [ I = o [0 § @ Q Oecmwnl1mm > emu.me ) ©
— & & f 2133 O B lo| 4 mE [ € NAahunmuﬁ.lo Qo= £ < D
(NI Ha AN f f u N N : o € SSE25822c35=5 R = 6 =2
(NI %981 f i p N oIS 5 5 oS 525 Spbos 5 [ g
Y| [\N] | N M =+ POYISA-Je NN o | X © ; = = = L 9 oy
—f = NN | Yo teinbey - i N O ; 0L =a B =
S 1111189812 d-Hhe U N < b —— @ D./_.u
— — O mna 58 3% ooy =
7 NN N N @ @D N c X
| NI NI o RNl « = SR
N 3334‘5 ~N T (= 0
iy 3%981234 g T .
e E e z =
=+ = =+ ng ~ T A
=H = N M P
O1 01— Ce 1 nad rs 1 o
LN n N —NM
Ln =TT
duaau
[T lfTa




A.

B.

Part 1ll Instructions - Regular Method

Purpose of the Form - Use this form to determine whether your income tax was sufficiently paid throughout the year by
withholding or by estimated tax payments. If it is hot, you may owe a penalty on the underpaid amount.

Filing an Estimated Tax Payment and Paying the Tax for Calendar Year Taxpayers - If you file returns on a calendar year basis
and are required to file Form MO-1040ES, you are generally required to file an estimated tax payment by April 15, and to pay the tax in
four installments. (If you are not required to file an estimated tax payment until later in the year because of a change in your income or
exemptions, you may be required to pay fewer installments.) The chart below shows the due date for estimated tax payments and the
maximum number of installments required for each.

Period Requirements First Met Due Date of Estimated Tax Payments Maximum Number of Installments Required

Between Jan. 1 and Apr. 1 Apr. 15 4
Between Apr. 2 and Jun. 1 Jun. 15 3
Between Jun. 2 and Sept.1 Sept. 15 2
After Sept. 1 Jan. 15 1

When the due date falls on a Saturday, Sunday, or legal holiday, the estimated tax payment will be considered timely if filed on the
next business day.

. Fiscal Year Taxpayers - Fiscal year taxpayers should substitute for the due dates above, the 15th day of the first and last months

of the second quarter of your fiscal year; the 15th day of the last month of the third quarter; and the 15th day of the first month of
your next fiscal year.

. Exception to the Penalty - You will not be liable for a penalty if your 2018 tax payments (amounts shown on Line 20) equal or

exceed any amount determined for the same period under the following exception provisions. You may apply a different exception
to each underpayment. Please enclose a separate computation page for each payment. If none of the exceptions apply, complete
Lines 15 through Line 29.

The percentages shown on Lines 21, 22, and 23, for the April 15, June 15, and Sept. 15 installment dates, are for calendar year
taxpayers required to pay installments on four dates.

Exception 1 - Prior Year’'s Tax - This exception applies if your 2018 tax payments equal or exceed the tax shown on your 2017 tax
return. The 2017 return must cover a period of 12 months and show a tax liability.

Exception 2 - Tax on Prior Year's Income using 2018 Rates and Exemptions - This exception applies if your 2018 tax withheld and
estimated tax payments equal or exceed the tax that would have been due on your 2017 income if you had computed it at 2018
rates. To determine if you qualify for this exception, use the personal exemptions allowed for 2018, but use the other facts and law
applicable to your 2017 return.

Exception 3 - Tax on Annualized 2018 Income - This exception applies if your 2018 tax payments equal or exceed 90 percent of the
tax on your annualized taxable income for periods from the first of the year to the end of the month preceding that in which an
installment is due. To annualize your taxable income, follow these four steps.

(a) Figure your adjusted gross income less itemized deductions from the first of your tax year up to and including the month prior to
that in which an installment is due; or, if you use the standard deduction, figure your adjusted gross income for that period.

(b) Divide the result of step (a) by the number of months in your computation period.

(c) Multiply the result of step (b) by 12.

(d) Subtract the deduction for federal tax and, if you did not itemize, subtract the standard deduction. The result is your annualized
taxable income.

Exception 3 may not be used for the fourth installment period.
Example | (Combined return)

1. Wages, received during Jan., Feb.,andMar .......... $6,000
2. Self-employment income during Jan., Feb., and Mar. . . .$4,000
3. Adjusted grossincome . .............oiiiiiian... $10,000
4. Annualized income ($10,000 +3x12) ............. $40,000
5. Less:

(@) Standard deduction. . ......... ... ... ... $24,000

(b) Federal tax (jointreturn) ....................... $1,600
6. Annualized taxableincome....................... $14,400

7. Income Tax (from Missouritaxchart) . ................ $628
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If your tax withheld and estimated tax payment for the first installment period of 2018 were at least $224 (22.5 percent of $994)
you do not owe a penalty for that period.

Exception 4 - Tax on 2018 Income Over Periods of 3, 5, and 8 months - This exception applies if your 2018 tax payments equal or
exceed 90 percent of the tax on your taxable income for periods starting from the first of the year to the end of the month preceding
that in which an installment is due. This exception does not apply to the fourth quarter. To determine if this exception applies for the
first three quarters, figure your taxable income from January 1, 2018 to the end of the month preceding that in which an installment
is due. Then compute your tax on that amount as though it represented your taxable income for 2018.

Example Il (Combined return using standard deduction)

(1) 2 (3 (4) (5)
Computation Period Income Tax 90 percent of Tax Tax Withheld
Jan. 1 to Mar. 31 $15,000 $0 $0 $275
Jan. 1 to May 31 $30,000 $163 $147 $458
Jan. 1 to Aug. 31 $35,000 $431 $388 $733

Since the amounts in column (5) are greater than those in column (4) for each of the first three computation periods, there is no
penalty for the first three installment periods.

. Figure the Addition to Tax - For Line 27a, enter the number of days from the due date of the installment to the date of payment or

December 31, 2018, whichever is earlier. If the payment date on Line 26 is December 31, 2018, or later and the due date of the
installment is April 15, 2018, then enter 260 days; for June 15, 2018, 199 days; and for September 15, 2018, 107 days.

For Line 27b, enter the number of days from January 1, 2019 or the 2019 installment due date to date of payment or appropriate
due date of return, whichever is earlier. If the payment date is April 15, 2019, enter 105 days for the first, second, and third quarters
and 90 days for the fourth quarter.

. Tax Withheld - You may consider an equal part of the income tax withheld during the year as paid on each required installment

date, unless you establish the dates on which the withholding occurred and consider it paid on those dates.

. Overpayment - Apply as credit against the next installment any installment overpayment shown on Line 19a that is greater than all

prior underpayments.

. Installment Payments - If you made more than one payment for any installment, enclose a separate computation for each

payment. If you filed your return and paid the balance of tax due on or before January 31, 2019, consider the balance paid as of
January 15, 2019.

. Exception from the Addition to Tax for Service in a Combat Zone - You may be exempt from a penalty for underpayment of

estimated tax if you served in the U.S. Armed Forces in an area designated by the President as a combat zone under conditions
which qualified you for hostile fire pay. If you are exempt for this reason, write on Line 19, for the applicable installment dates,
“Exempt, combat zone.”

. Farmers - If (1) your Missouri gross income from farming is at least two-thirds of your total Missouri gross income and (2) you filed

a Missouri Individual Income Tax Return and paid tax on or before March 1, 2019, you are exempt from charges for underpayment
of estimated tax. If so, write on Line 1, “Exempt, farmer”.

If you meet this gross income test but did not file a return or pay the tax when due, complete this form with respect to the last
quarter only. Qualified farmers would enter all of Line 14 in the fourth quarter and calculate the appropriate underpayment.
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Line-by-Line Instructions

Complete Lines 15 through 19d for each installment period, then complete Lines 25 through 29.

14.
15.

16.

17.
18.
19.

Enter the required annual payment, as computed on Part I, Line 6.

Divide the required annual payment (Line 14) by the number of required installments. If the estimated tax was the result of a
change in income or exemptions during the year, you may require fewer installments. Otherwise, divide the required annual
payment by four and place the amount in each column. (See instructions for farmers.)

Enter the amount of tax paid during the installment period. (The tax withheld throughout the year may be considered as paid in
four equal parts on the due date of the installment, unless a different date is established.)

Enter the amount, if any, of overpayment reported on Line 19c from the previous installment period.
Enter the sum of Line 16 and Line 17.

If the amount on Line 15 is greater than the amount on Line 18, enter the difference here. You have underpaid for the installment
period. If not, skip this line and go to Line 19a.

19a. If the amount on Line 18 is greater than the amount on Line 15, enter the difference here. You have overpaid for the installment
period.

19b. Enter the amount of the underpayment (if any) from Line 19d of the previous column.

19c. and 19d.
If you filled in Line 19 of this column, add the amount on Line 19b to the amount on Line 19 and enter that total on Line 19d. If
you filled in Line 19a of this column, and the amount on Line 19a is greater than any amount on Line 19b, enter the difference on
Line 19c. You are overpaid. If the amount on Line 19b is greater than the amount on Line 19a, enter the difference on Line 19d.
You are underpaid. See page 3 for instructions for Lines 20 through 24.

25. If you have an underpayment for the installment period and none of the exceptions on Lines 20 through 24 apply, enter on Line
25 the amount of the underpayment on Line 19d. If you do not have an underpayment, or if an exception applies, leave this blank
and skip the remaining lines of the column.

26. Enter the date a payment was made on the installment, the due date of the following installment, or April 15, 2019, whichever is
earlier. If more than one late payment was made to cover the installment, attach a separate computation for each payment during
the installment period.

27a. Enter the number of days from the due date of the installment to the date entered on Line 26.

27b. Enter the number of days from January 1, 2019 (or a later date, if the installment date was after January 1) until either the date of
the payment or April 15, 2019, whichever is earlier.

28a. Multiply the amount on Line 25 by the number of days on Line 27a. Divide this amount by 365 days and multiply the product by
four percent. This is the penalty accruing on the underpayment during 2018.

28b. Multiply the amount on Line 25 by the number of days on Line 27b. Divide this amount by 365 days and multiply the product by
four percent. This is the penalty accruing on the underpayment during 2019.

28c. Add the amounts on Lines 28a and 28b.

29. Add the sum of the amounts on Line 28c in the final column, if applicable.
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